

$$\psi \in \underline{\mathfrak{h}} \not\partial_{\infty} \underline{\mathfrak{h}} \not\partial \mathbb{C}^{\dagger}$$

$$\underline{\mathfrak{h}} \not\partial_{\infty} \underline{\mathfrak{h}} \not\partial \mathbb{C}^{\dagger} = \frac{\psi \in \underline{\mathfrak{h}} \not\partial_{\infty} \underline{\mathfrak{h}} \not\partial \mathbb{C}^{\dagger}}{(i\partial - m)\psi = 0}$$

$$\mathfrak{d}_{\psi} \mathcal{D}(\psi: \underline{\psi}) = \frac{i}{2} \gamma \times \underline{\psi} - m\psi \Rightarrow \mathfrak{d}_{\psi} \mathcal{D}(\psi) = \frac{i}{2} \partial \psi - m\psi$$

$$\gamma \in \underline{\mathfrak{h}}^{\#} \mathfrak{X} \mathfrak{W} | \underline{\mathfrak{h}} \not\partial \mathbb{C}^{\dagger}$$

$$\underline{\psi} \in \underline{\mathfrak{h}}^{\#} \mathfrak{X} \underline{\mathfrak{h}} \not\partial \mathbb{C}^{\dagger} \Rightarrow \gamma \times \underline{\psi} \in \mathfrak{h} \times \underline{\mathfrak{h}} \not\partial \mathbb{C}^{\dagger}$$

$$\mathfrak{d}_{\underline{\psi}} \mathcal{D}(\psi: \underline{\psi}) = -\frac{i}{2} \gamma \cdot \psi \Rightarrow \mathfrak{d}_{\underline{\psi}} \mathcal{D}(\psi) = -\frac{i}{2} \gamma \cdot \psi$$

$$\mathfrak{d}_{\underline{\psi}} \mathcal{D}(\psi: \underline{\psi}) \times \mathfrak{X} \times \underline{\dot{\psi}} = \partial_{\varepsilon}^0 \mathcal{D}(\psi: \underline{\psi} + \varepsilon \underline{\dot{\psi}}) = \frac{1}{2} (\gamma \cdot \psi) \times \mathfrak{X} \times (i \underline{\dot{\psi}}) = -\frac{1}{2} (i \gamma \cdot \psi) \times \mathfrak{X} \times \underline{\dot{\psi}}$$

$$\overset{*}{d} \mathfrak{d}_{\underline{\psi}} \mathcal{D}(\psi) = \frac{i}{2} \partial \psi$$

$$0 = \mathfrak{d}_{\psi} \mathcal{D}(\psi) + \overset{*}{d} \mathfrak{d}_{\underline{\psi}} \mathcal{D}(\psi) = \frac{i}{2} \partial \psi - m\psi + \frac{i}{2} \partial \psi = (i\partial - m)\psi$$